# **Transfers Report**

This report contains the transfers results.

Contest Name	Ward 8 - East Kilbride Central North		
Valid Votes	6,199		
Positions to be Filled	3		
Quota	1,550		

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Darren CLYDE	Scottish Conservative and Unionist	1,163
Joe FAGAN	Scottish Labour Party	1,163
Hugh MACDONALD	Scottish National Party (SNP)	1,374
Stuart MCLEAN	Hope Over Fear	69
Alice Marie MITCHELL	Scottish Labour Party	795
John RINTOUL	Scottish Liberal Democrats	153
James THORNBURY	Scottish Green Party	239
Sheena WARDHAUGH	Scottish National Party (SNP)	1,243
	Total	6,199

# **Transfers Report**

This report contains the transfers results.

## Stage 2 - Exclusion of Stuart MCLEAN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Darren CLYDE	2	1.00000	2.00000
Transfer to Joe FAGAN	10	1.00000	10.00000
Transfer to Hugh MACDONALD	15	1.00000	15.00000
Transfer to Alice Marie MITCHELL	4	1.00000	4.00000
Transfer to John RINTOUL	4	1.00000	4.00000
Transfer to James THORNBURY	15	1.00000	15.00000
Transfer to Sheena WARDHAUGH	6	1.00000	6.00000
Value of non-transferable ballot papers			13.00000
	Total		69.00000

# **Transfers Report**

This report contains the transfers results.

### Stage 3 - Exclusion of John RINTOUL

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Darren CLYDE	23	1.00000	23.00000
Transfer to Joe FAGAN	25	1.00000	25.00000
Transfer to Hugh MACDONALD	9	1.00000	9.00000
Transfer to Stuart MCLEAN	0	0.00000	0.00000
Transfer to Alice Marie MITCHELL	28	1.00000	28.00000
Transfer to James THORNBURY	40	1.00000	40.00000
Transfer to Sheena WARDHAUGH	12	1.00000	12.00000
Value of non-transferable ballot papers			20.00000
	Total		157.00000

# **Transfers Report**

This report contains the transfers results.

### Stage 4 - Exclusion of James THORNBURY

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Darren CLYDE	21	1.00000	21.00000
Transfer to Joe FAGAN	31	1.00000	31.00000
Transfer to Hugh MACDONALD	54	1.00000	54.00000
Transfer to Stuart MCLEAN	0	0.00000	0.00000
Transfer to Alice Marie MITCHELL	27	1.00000	27.00000
Transfer to John RINTOUL	0	0.00000	0.00000
Transfer to Sheena WARDHAUGH	90	1.00000	90.00000
Value of non-transferable ballot papers			71.00000
	Total		294.00000

# **Transfers Report**

This report contains the transfers results.

## Stage 5 - Exclusion of Alice Marie MITCHELL

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Darren CLYDE	49	1.00000	49.00000
Transfer to Joe FAGAN	644	1.00000	644.00000
Transfer to Hugh MACDONALD	36	1.00000	36.00000
Transfer to Stuart MCLEAN	0	0.00000	0.00000
Transfer to John RINTOUL	0	0.00000	0.00000
Transfer to James THORNBURY	0	0.00000	0.00000
Transfer to Sheena WARDHAUGH	39	1.00000	39.00000
Value of non-transferable ballot papers			86.00000
	Total		854.00000

# **Transfers Report**

This report contains the transfers results.

## Stage 6 - Surplus of Joe FAGAN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Darren CLYDE	354	0.17245	61.04730
Transfer to Joe FAGAN	0	0.00000	0.00000
Transfer to Hugh MACDONALD	181	0.17245	31.21345
Transfer to Stuart MCLEAN	0	0.00000	0.00000
Transfer to Alice Marie MITCHELL	0	0.00000	0.00000
Transfer to John RINTOUL	0	0.00000	0.00000
Transfer to James THORNBURY	0	0.00000	0.00000
Transfer to Sheena WARDHAUGH	172	0.17245	29.66140
Value of non-transferable ballot papers			201.07785
	Total		323.00000

# **Transfers Report**

This report contains the transfers results.

## Stage 7 - Exclusion of Darren CLYDE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Joe FAGAN	0	0.00000	0.00000
Transfer to Hugh MACDONALD	49	0.17245	8.45005
Transfer to Hugh MACDONALD	90	1.00000	90.00000
Transfer to Stuart MCLEAN	0	0.00000	0.00000
Transfer to Alice Marie MITCHELL	0	0.00000	0.00000
Transfer to John RINTOUL	0	0.00000	0.00000
Transfer to James THORNBURY	0	0.00000	0.00000
Transfer to Sheena WARDHAUGH	57	1.00000	57.00000
Transfer to Sheena WARDHAUGH	29	0.17245	5.00105
Value of non-transferable ballot papers			1,158.59620
	Total		1,319.04730